FET [EHRRFM BREES—F2REFHES—H

(4) FHmE B E ERE 20 &E
- a—k £ (5) BB EEHA EFREDE
12 (NBE~ORYMBAH N ELFEE Y (6)FFMBEEERS EH BKX
a—kK 2T (7) 39l & [
SEEEE - ~ =[— = =2 shp TR
(2) AR 24 (‘D:ﬂ’éﬂﬁ%?’ﬂi%i%é (BEERE| 24 ;ﬁ%mé’&b‘&j'-j—étb\ ,m\ngk;“c_éb\?#?fl:\éo
() (12)BXETFH) (1HABANE | ELBE FRBEDBEETBE) 1 REHEFER 2 R ETiE
BiE B (B
5 H20 HROBIE | (15 |(18) (25) (28) (30)
_r _k (11) FE | H21 4w | £m (23) e (31) (32) (33) Z Dt DK E
i QoFBERE T | mmmme | 0w | = | A (aen| aomes | 02| G0 REPIER (o) | o) | @) | e2) 88| 20, | |IER] GopEs | cosEoms |IEXE e BE | 5m| satommzon | HEACILT
22.23) K Ezsk RiA%E (%ﬁ’)‘ (E%’)‘ DBV | B | ERE | $hER | FTE ﬁ_’% ﬁ‘m e E’;\ i T
fHato i i 2G| b
EFRBEHE AR A DHE
205|—MEEEEYBESHEETE (100800 |REER 43,111| 52,120| 52,120 1.0| 7,200/ HEDFHE 23,256 22.923|k> I 4 4 4 3|A BRI
208738 i — 1G | b
2007|UHA YNt 2—B{EEEK (100800 |EHREER 0]406,029| 886,462 1.2| 8640\ &RILE % | I 4 4 3|A

& 2 &%




